The group G is isomorphic to the group labelled by [ 22, 2 ] in the Small Groups library.
Ordinary character table of G = C22:

la 11a 11b 11c 11d 11le 11f 11g 11h 114 115 22a 22b 22¢ 22d 22e 22f 22¢g 22h 221 227
X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
X2 1 1 1 1 1 1 1 1 1 1 1 —1 —1 —1 —1 —1 —1 —1 —1 —1 —1
xs | 1 E(11) EQ11)? E(11)? EQ1)* E(11)® E11)S EALT E(11)®  E(11)° E(11)Y E(11) E(11)2 E(11)3 E(11)4 E(11)% E(11)8 E(11)7 E(11)8 E(11)°  E(11)1°
xa | 1 E(11) EQ11)? EQ11)* E(Q1D* E(11)®> E(11)S EQ11)" E(11)® B(11)° E(11)Y° —-E(11)  —-E(11)? —-E(11)*) -E(11)* -—-E(11)> -E(11)S -—-E(11)" -—-E11)® -—E(11)° -—-E(11)'Y
vs | 1 E(11)? E(11* B B(11)® EQDY®  B(11) E(11)*  E(11)® E(11)7  E(11)° E(11)?  E(AD*  BOAD®  E(ADS  E(QDY®  E11)  E(11)®  E(11)®  EQ11)7  E(11)°
ve | 1 E(11)?2 E(11* EQ11S EB11)® E(QDY  B(11) E(11)* E(11)® E(11)7  E(11)° —E(11)2 —E(11)* -—-B11)® -E(11)® —-EQDY® —E(11) -B(11)® -—E(11)® -—E(11)7 -—E(11)°
yr | 1 E(11)® EQ11S EBE(11)°? E(11) E1D* E11)T EQDY E(11)?  E(11)® E(11)8 E(11)*  E(11)S  B11)®  E(11)  EQD*  E(QDT  EADY®  E(11)?  E(11)S  E(11)3
xs | 1 E(113 E(11S E(11)° E(11) EQD* E(11)7T E(1DY E(11)2  E(11)® E(11)8 —E(11)* —E(11)S —E(11)° —E(11) —E11)* —E11)7 —E1DY —E(11)?2 —E(11)> —E(11)3
xo | 1 E(QD* EQ11)®  E(11) E(11)® E(11)° E(11)2 EQD® EQDY® E(11)?  E(11)7 E(11)4 E(11)8 E(11) E(11)% E(11)° E(11)? E(11)S B B(11)3 E(11)7
xwo| 1 E(QD* EQ1)®  EQ11)  E(11)° E(11)° E@11)? EQ11¢ EBEADYP E(11)*  E(11)7 -E(11)* —-EB(11)®  —E(11) —E(11)®> —E(11)° —E(11)> -E(11)% —-EADY —E11)3 —EB@11)7
yu| 1 E11® EQDY EQD* E(11)° E(11)3  E(11)®* E(11)? E(11)T  E(11)  E(11) BE(11)>  BAD®  pAD*  E(11®  B(11)®  E(11®  EBEQ11)?  E(11)T  E(1)  E(11)°
iz | 1 E11)® EQDY EAL*  E(11)° E11)3  E(11)® E(11)?  E(11)T  E(11)  E(11) —E(11> —B(1DY® —p11)* -E11)° -—B(11* -—-E11)® —B(11)2 -—E(11) —E(11) —E(11)°
xis| 1 E(11D®  EQ11)  E(11)7  E(11)? E(11)® E(11)* E(11)° E(11)* E11)° E(11) E(1D®  E(11)  EBEQDT  E(11?  E11®  E(11)?  E11)?  E(1D*  EADY®  E(11)°
xia| 1 E(1DS  EQ1) EQDT E(11? E(11)® E(11)*) EQ11)° EQD* EQADY  E(11)5 -E(11)S  —-E(11) -—-E(11)" -—-E(11)? -E(11)® -E(11)* -E(11)° -—-E11)* —-E(11)° —-E(11)°
xi5| 1 E(11)7 EQ11)* EQDP EOA1DS E(11)?2 E(11)° E(11)®  E(11)  E(11)®  E(11)* E(11)7 E(11) EQD°  B11)° E(11)? E(11)° E(11)° E(11) E(11)8 E(11)4
s | 1 E(11)7  E(11)3 E(11)Y® E11)® E(11)2 E(11)° E(11)> E(11) E(11)8  E(11)* ~E(11)T —EB(11)) —-E(1DY? -E(11) -—-B(11)> -E11)° -B(11)> -—E(11) -—-EB(11)® —E(11)*
vir| 1 E(11)® E(11)> E(11)? E(QDY E11)T E(11)* E(11) E(11)° E(11)5 E(11)3 E(11)®  E(11)®  B(11)?  EBEQADY®  EB11)7T  E(QD*  E(11)  E(11)°  EADS  E(11)?
xis| 1 E(11)®  E(11)> E(11)? E(11Y™ EQ11)7 E(11)* E(11) E(11)° E(11)S E(11)? —E(11)® —E(11)> -—E(11)2 —E11Y® —p>11)7 -—E(11)* -—E(11) -—E(11)° —E11)S —E(11)3
x1o| 1 E(11)° EQ11)" EQ11)® E(11)?  E(11) EQDY EQ11)® EQD® EBAD*  E(11)2 E(11)? EQ11)7 E(11)° E(11)3 E(11) E(11)1Y  E(11)8 E(11)8 E(11)4 E(11)2
x20 | 1 E(11)° EQ11)" E(11)® EQ11)> E(11) EQDY® EPA1)® E(11)S EO1D)* E(11)? -E(11)° —-E(11)" -—-E(11)®> -—-E(11)*> -E(11) -EQDY® —-E(11)® -E(11)5 -—-E11)* —E(11)?
Yai | 1 E(DY® E(11)° E11)® E(11)T EQDS E(11)® EQD* E(11)* E(11)?  E(11) E(DY®  E11)°®  EBA1®  EBEQ)T  E(11)®  EBE11)®  E(QD*  B(A1)®  E(11)?  E(11)
Y2 | 1 E(ID®  E(11)° E11® E(11)T EQ11S E(11)® EQD* E(11)* E(11)? E(11) -1 —EQDY —E(11)° —E11)® —E11) —E(11)¢ —E(11)> —E(11)* -—E(11)> -—E(11)> —E(11)
Trivial source character table of G = C22 at p = 2:
Normalisers N; Ny
p-subgroups of G up to conjugacy in G Py
Representatives n; € N; la 11a 110 11c 11d 11e 11f 11g 11h 114 115 la 11a 110 11c 1g 11h 114
Tox1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-xs+0-Xx0+0-x10+0-x11+0-x12+0-x13+0-Xx14+0-x15+0-x16 +0-x17+0-Xx18+0- X190 +0-Xx20+0-x21 +0-x22 | 2 2 2 2 2 2 2 2 2 2 2 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x04+0-x10+0-Xx114+0-x12+0-x134+0-x1a+1-x15+1-x16+0-x17+0-x18+0-Xx10+0-x20+0-x21+0-x22 | 2 2xE(11)" 2xE(11)> 2xE(11)!° 2xE(11)° 2xE(11)> 2xE(11)° 2xE(11)> 2xE(11) 2xE(11)® 2xE(11)* | 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+1-x7+1-xs+0-x0+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-Xx16+0-Xx17+0-Xx1s+0 X190 +0-x20+0-x21 +0-x22 | 2 2xE(11)> 2xE(11)° 2xFE(11)° 2xE(11) 2«E(11)* 2xE(11)" 2xE(11)!1° 2xE(11)? 2xE(11)°> 2xE(11)® | 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x74+0-xs+0-xo+0-x10+0-x11+0-x12+1-x13+1-x14+0-X15+0-x16+0-x17+0-X18+0-x104+0-x20+0-x21 +0-x22 | 2 2xE(11)® 2xE(11) 2xE(11)" 2xE(11)> 2xE(11)® 2xE(11)®> 2xE(11)° 2+ E(11)* 2xE(11)!1° 2xE(11)° | 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-xo+1-x10+0-x114+0-x12+0-Xx134+0-x14+0-Xx15+0-x16+0-X17+0-x18+0-X10+0-x20+0-x21 +0-x22 | 2 2xE(11?* 2xE(11)® 2xE(11) 2xE(11)° 2xE(11)° 2xE(11)? 2xE(11)S 2xEQADY 2xE(11)* 2xE(Q11)7 | 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-Xx114+0-x12+0-Xx13+0-x14+0-Xx15+0-x16+0-x17+0-x1s+1-X10+1-x20+0-x21+0-x22 | 2 2xE(11)° 2xE(11)" 2xE(11)> 2xE(11)*> 2xE(11) 2xE(11)° 2xE(11)® 2xE(11)S 2xE(11)?* 2xE(11)? | 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+1-x5+1-x6+0-x7+0-xs+0-x0+0-x10+0-Xx114+0-x12+0-Xx13+0-x14+0-Xx154+0-x16+0-Xx17+0-x18+0-X10+0-x20+0-x21 +0-x22 | 2 2% E(11)> 2xE(11)* 2xE(11)® 2xE(11)® 2+« E(11)!° 2xE(11) 2xE(11)> 2xE(11)> 2xE(11)7 2xE(11)° | 0 0 0 0 0 0 0
0-x14+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-xo+0-Xx10+0-x11+0-x12+0-X13+0-Xx14+0-Xx15+0-x16+0-x17+0-x18+0-X190+0-x20+1-x21+1-x22 | 2 2xE(11)* 2xFE11)° 2xE(11)% 2xE(11)" 2xE(11) 2xE(11)> 2xE(11)* 2xE(11)> 2xE(11)2 2xE(11) | 0 0 0 0 0 0 0
O-x1+0-x2+1-x3+1-x4+0-x5+0-x6+0-x7+0-xg+0-x9+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +0-x22 | 2 2x E(11) 2*E(11)2 2*E(11)3 2*E(11)4 Q*E(ll)? 2*E(11)6 2*E(11)7 2*E(11)8 2*E(11)9 2*E(11)10 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x74+0-xs+0-x0+0-x10+1-x11+1 - x12+0-x134+0-x14a+0-x15+0-x16+0-x17+0-x184+0-x10+0-x20+0-x21+0:x22 | 2 2*E(11)5 2*E(11)10 2*E(11)4 2*E(11)9 2*E(11)3 2*E(11)8 2*E(11)2 2*E(11)7 2x E(11 2*E(11)6 0 0 0 0 0 0 0
O0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x74+0-xs+0-x90+0-x10+0-x11+0-x12+0-x134+0-x14a+0-x15+0-x16+1-x17+1-x184+0-x10+0-x20+0-x21+0-x22 | 2 Q*E(ll)s 2*E(11)5 2*E(11)2 2*E(11)10 2*E(11)7 2*E(11)4 2% E(11) 2*E(11)9 2*E(11)6 2*E(11)3 0 0 0 0 0 0 0
T-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-Xo+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x190+0-x20+0-x21 +0-x22 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0-x14+0-x24+0-x34+0-x44+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14a+1-x15+0-x16+0-x17+0-x18+0-x19+0-X20+0-x21+0:-x22 | 1 E(11)7 E(11)3 E(ll)lo E(11)6 E(11)2 E(ll)g E(11)5 E(ll) E(11)8 E(11)4 1 E(l 11 E(11)5 E(ll)g
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+1-x74+0-xs+0-x90+0-x10+0-x11+0-x12+0-x134+0-x14+0-x15+0-x16+0-x17+0-x18+0-x10+0-x20+0-x21 +0-x22 | 1 E(11)3 E(ll)ﬁ E(ll)g E(11) E(11)4 E(11)7 E(ll)m E(11)2 E(11)5 E(ll)s 1 EQ1 11 E(11) E(ll)s
0-x1+0-x2+0-x3+0-x4a+0-x5+0-x6+0-x7+0-xs+0-Xx0+0-x10+0-x11+0-x12+1-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +0-x22 | 1 E(11)8 E(11) E(11)7 E(11)2 E(11)8 E(11)3 E(11)° E(11)* E(11)10 E(11)5 1 EQ E(11)° E(11)10
0-x14+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-x0+0-x10+0-x11+0-x12+0-x13+0-Xx14+0-x15+0-x16 +0-x17+0-x18+0-Xx19+0-X20+0-x21 +0-x22 | 1 E(11)* E(11)8 E(11) E(11)5 E(11)° E(11)? E(11)¢ E(11)%0 E(11)3 E(11)7 1 E(1 E(11)8 1 E(11)3
O0-x1+0-x2+0-x34+0-xa+0-x5+0-x6+0-Xx7+0-xs+0-x9+0-Xx10+0-x11+0-x12+0-x13+0-Xx14a+0-x15+0-x16+0-x17+0-x1s+1-x19 +0-x20+ 0 Xx21 +0-x22 | 1 E(11)° E(11)7 E(11)% E(11)3 E(11) E(11)10 E(11)8 E(11)¢ E(11)4 E(11)2 1 EQ E(11)®  E(1 E(11)4
0-x1+0-x2+0-x3+0-xa+1-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x13+0-Xx14+0-Xx15+0-Xx16+0-x17+0-Xx18+0-Xx10+0-Xx20+0-x21+0-x22 | 1 E(11)2 E(11)* E(11)¢ E(11)8 E(11)% E(11) E(11)3 E(11)° E(11)7 E(11)° 1 EQ E(11)* E(1 E(11)7
0-x1+0-x24+0-x34+0-xa4+0-x54+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-Xx14+0-x15+0-x16+0-x17+0-x18+0-x10+0-x20+1-Xx21+0:x22 | 1 E(11)10 E(11)° E(11)8 E(11)7 E(11)¢ E(11)° E(11)4 E(11)3 E(11)2 E(11) 1 EQ E(11)*  E(1 E(11)?
0-x14+0-x2+1-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x13+0-Xx14+0-Xx15+0-x16 +0-x17+0-x18+0-X19+0-X20 +0-x21 +0-x22 | 1 E(11) E(11)? E(11)3 E(11)* E(11)° E(11)° E(11)7 E(11)8 E(11)° E(11)%0 1 ( E(11)"  E(1 E(11)°
0-x14+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x0+0-x10+1-x11+0-x12+0-Xx134+0-x14+0-x15+0-x16 +0-Xx17+0-x18 +0-x19 +0-x20 +0- x21 +0-x22 | 1 E(11)° E(11)1° E(11)* E(11)° E(11)? E(11)8 E(11)? E(11)7 E(11) E(11)8 1 E(11)2  E(1 E(11)
0-x1+0-x2+0-x34+0-xa+0-x5+0-x6+0-Xx7+0-xs+0-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15 +0-x16 +1-x17+0-x158+0-x19 +0- x20+0-x21 +0-x22 | 1 E(11)8 E(11)5 E(11)2 E(11)10 E(11)7 E(11)* E(11) E(11)° E(11)8 E(11)3 1 E(11)  E(1 E(11)8

Py = Group([()]) = 1
P, = Group([(1,2)]) = C2



